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DI Questions for CGL Tier-1, CGL Tier-Il, SSC 10+2

SSC Math’s Quiz 08

Directions: Study the following bar-graph carefully and answers the
questions given beside:

The graph shows the number of users in lakhs of three different mobile network
companies Yetel, Gio and Modafone in various years 2014 to 2017.

2014 2015 2016 2017
m Yetel B Gio » Modafone

Questions:

1. What is the ratio of the number of users of Yetel to that of Modafone during the
period 2015 to 2017.

A.36:37 B.39:31
C.38:39 D.31:39

2. Total users of all three companies in 2017 are what percentage less than the total
users of all the three companies in 2014?

A.11.9% B.9.9%

C.12.5% D.22%




3. The total number of users of Modafone and Gio in the year 2016 was what
percentage of the number users of Yetel in that year?

A.50% B. 100%

C. 150% D. 125%

4. What is the average number of users of all the three companies in the given period?
A. 87.5 lakhs B. 187.5 lakhs

C. 210 lakhs D. 156.5 lakhs

Correct Answer:
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Explanation:

1.

The number of users of Yetel during 2015 to 2017 = (55 + 80 + 60) = 195
The number of users of Modafone during 2015 to 2017 = (75 + 40 + 40) = 155
Required ratio = 195 : 155 =39 : 31.

Hence, option B is correct.

Total users of all three companies in 2014 =70 + 80 + 60 = 210
Total users of all three companies in 2017 = 60 + 85 + 40 = 185

Reqd % = M X 100 =11.9%
210

Hence, option A is correct

The number of users of Modafone & Gio in the 2016 = 40 + 60
And the number of users of Yetel in 2016 = 80

100
RBCId 0% = W X 100 = 125%

Hence, option D is correct.

Total number of users in all the years together =70 + 80 + 60 + 55 + 45 + 75 + 80

+60+40+60+85+40=750

750
Reqd avg = = 187.5 lakhs

Hence, option B is correct.
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